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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

02 2324l 16,770 16,770 0
OEEHAERENH 2Y 16,770
= 16,770

03 &AL S HI 10,000 10,000 0
OEYAEENH 2Y 10,000
= 7,000
Al 3,000

202 oddl 15,000 10,800 4,200
= 7,200
Al 7,800

01 = LH o4 1l 15,000 10,800 4,200
OEEHAEBENH 29Y 15,000
= 7,200
Al 7,800

301 e A3 175,000 173,440 1,560
2 121,940
Al 53,060

01 Ml28E 6= 23,000 22,100 900
OEYAEENH 2Y 23,000
= 13,000
Al 10,000

09 AL HI B A S 48,000 52,340 A 4,340
OEEHAERENH 29Y 48,000
= 39,940
Al 8,060

1MIIEESS 104,000 99,000 5,000
OEYAEENH 2Y 104,000
= 69,000
Al 35,000

307 212+0 & 39,800 39,800 0
= 29,800
Al 10,000

01 22724l 39,800 39,800 0
OEEHAERENH 2Y 39,800
= 29,800
Al 10,000

401 AIEHI L 2] 10,000 7,000 3,000
= 7,000
Al 3,000

01 A& Bl 10,000 7,000 3,000
OEYAEENH 2Y 10,000
= 7,000
Al 3,000

405 XtAHE S| 22,000 12,000 10,000
2 7.000
Al 15,000
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SH: OEISD
HE: 04 -0
Sl oS =X

s5 X (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 XA 2B F S| 22,000 12,000 10,000
OEEAEEHNEH 29 22,000
= 7,000
Al 15,000
x|z XA 20,000 60,000 A 40,000
301 et A= 20,000 60,000 A 40,000
01 M3 EXEE 2562 20,000 60,000 A 40,000
oOYAX2Z XA 20,000
XGOS HEH SAXNHRIHLH] 93,700 93,300 400
o= 18,740
Al 74,960
307 2Iz2t0l & 93,700 93,300 400
= 18,740
Al 74,960
10 SIS X EX 93,700 93,300 400
OXNHOSHE SALAA R0 & ] 93,700
= 18,740
Al 74,960
NE0otsHE A XA 1,570,870 983,340 587,530
= 329,467
Al 1,241,403
307 gizto| A 1,570,870 983,340 587,530
= 329,467
Al 1,241,403
10 Al S X EX 1,570,870 983,340 587,530
OX<E0otsHdEH St SAH XN 1,317,870
= 329,467
Al 988,403
OXYolsSHEH EQ2dE 24AH X& 100,000
OX<EotsHdEH 2-AH| 153,000
Z0i0lsS A= XJ 10,044 0 10,044
= 7,030
= 1,507
Al 1,507
301 et A= 10,044 0 10,044
= 7,030
= 1,507
Al 1,507
01 Ml EXEE 4562 10,044 0 10,044
OXMOIS YAA=SX S 10,044
= 7,030
& 1,507
Al 1,507
oloF =p40|2t 2 XK ALY 1,981 0 1,981
= 1,387
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Off &t 24

=

i
2m

=

= M W

1,981

= W

1,981

= M

1,000

f

Al

1,000

= M

1,000

OlsS=EXAIE K&

= M A W

—_

—_

, 196,133

660,071

, 101,040

736,473

,698,549

4,184,606

11,527

OFS=EXAE 28X

= M H

—_

—_

,826,748
,085,422

441,386

,299,940

2,804,017

22,731

307 21201 &

=z N H

,826,748
,085,422

441,386

,299,940

2,804,017

22,731

10 AR SXIE2X

OO0ls=EXIAIE 2]

Z HH

= M

— N N

—

,826,748
, 711,664
,085,422

406,861

,219,381

115,084
34,525
80,559

2,804,017

22,731

ANE0ts XI&

H

Al

136,100

40,830
95,270

131,140

4,960

307 21201 &

t

136,100
40,830

131,140

4,960
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AN GEIEY
M g - ots=EX BT
&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 95,270
10 A3l S X2 = 136,100 131,140 4,960
OAlE0lE K& 136,100
S 40,830
Al 95,270
2 2AI|12 2| 44,623 44,623 0
=2 15,618
< 13,387
Al 15,618
307 21201 A 44,623 44,623 0
= 15,618
= 13,387
Al 15,618
10 A2l S X2 X 44,623 44,623 0
oYl 2 2EHl 44,623
& 15,618
< 13,387
Al 15,618
2ES0ts 1858 29 486,338 474,576 11,762
= 194,534
< 145,902
Al 145,902
307 glz2tol & 486,338 474,576 11,762
= 194,534
< 145,902
Al 145,902
10 At3I =X 2 = 486,338 474,576 11,762
oREslts 188 299 486,338
= 194,534
< 145,902
Al 145,902
OFs=EXAE E50ts K& 53,650 53,650 0
301 e A3z 53,650 53,650 0
01 MI28E+06l= 53,650 53,650 0
O0ts=XAE ES0ts 2HAlH]
500 2209 x3652 40,150
OOts=XAE Ots =SHEHI (5 - 1)
300,000 »45H * 13| 13,500
ANEotsdyH HHetd X 13,800 13,800 0
307 21201 A 13,800 13,800 0
10 A3l S X2 = 13,800 13,800 0
OXNSotsHH ety X& 13,800
NgGotsdH JIs22 18,000 0 18,000
< 18,000
402 RI2HXt20l ™ 18,000 0 18,000
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2A: 41
Hu: oM - OlS=X =d
e OrsSSXAIE XS (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 18,000
01 QI2tXE8 X 18,000 0 18,000
OXNYGOtSHE JISEL(HENSHEHE 3MA
) 18,000
= 18,000
XNEotSHdEeH MW E X 13,800 13,800 0
307 giztol A 13,800 13,800 0
10 Al SXIEX 13,800 13,800 0
OXYotsdH WAHRFH XS 13,800
Ots=XNA4E Jls2d 193,074 0 193,074
= 96,537
=} 48,268
Al 48,269
402 SI2FXHE0| ™ 193,074 0 193,074
= 96,537
=} 48,268
Al 48,269
01 812t X 193,074 0 193,074
OOsS=EXNAIAE JIsEd 193,074
= 96,537
& 48,268
Al 48,269
Ols=XAIE MASO 340,000 360,000 A 20,000
= 306,000
= 23,800
Al 10,200
307 2iz2to| & 340,000 360,000 A 20,000
= 306,000
== 23,800
Al 10,200
10 SIS X EX 340,000 360,000 A 20,000
OOsS=EXAIE MAHASN 340,000
= 306,000
= 23,800
Al 10,200
Ols=2XAIE D20 70,000 60,000 10,000
= 63,000
= 4,900
Al 2,100
307 QI2t0| ™ 70,000 60,000 10,000
= 63,000
& 4,900
Al 2,100
10 Al S X2 X 70,000 60,000 10,000
O0IsE=EXAIE 20 70,000
= 63,000
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A OIS

Hu: oM - OlS=X =d
&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 4,900
Al 2,100
28 K& 116,359,803 1,430,800 114,929,003
= 64,515,330
< 34,101,881
Al 17,742,592
gos SsAlE WMwaH X3 14,800 20,000 A5,200
301 et d = 14,800 20,000 A5,200
01 MEI2EZE+06l= 14,800 20,000 5,200
Ogl= SSAE WMRH K&
400,000 *370H4 2 14,800
QIZINEI0IE ESWUAM 288 K& 190,800 190,800 0
307 gl2tol & 190,800 190,800 0
06 283 190,800 190,800 0
OURIZINEI0IE BERUAM BEI(0DE - &)
A& 190,800
UM SEE N 936,000 510,000 426,000
301 LA Z 936,000 510,000 426,000
01 MI28E +06l= 936,000 510,000 426,000
OEsuwA E8& X& 936,000
20 SXXN& 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
10 A2l S X2 X 20,000 20,000 0
Oollel =00l& A& 20,000
Helold oelol e+dZHse oty XA 115,000 115,000 0
307 glz2+ol & 115,000 115,000 0
06 283 115,000 115,000 0
OZRO0t HNMIBHS It 5,000% 23,000 115,000
EFUA 2522 XA 486,000 0 486,000
301 et a = 486,000 0 486,000
01 MEIBEE 263 486,000 0 486,000
o3dola 22X 306,000
o580l 22X 180,000
otsE2Esx 95,737,951 0 95,737,951
= 51,396,650
< 31,255,265
Al 13,086,036
301 et d = 95,737,951 0 95,737,951
= 51,396,650
< 31,255,265
Al 13,086,036
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SA: GEIED
M o4 OlE=X B
ool 2% X (SHol: @)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

& =623 95,737,951 0 95,737,951
252 95,737,951

oy 67,570,691
47,299,484

,108,483
12,162,724
9,489,560
4,097,166
4,514,430

877,964
O/ S5HFRINE B2 18,450,960
450,960
OUIZHOL BB 28T 226,740
181,392
45,348

= H H
©

O3NS NE BEs=

= W

H
@

= M

AE0I0IE0tS 2=

o
©

, 740,972 0 18,740,972
13,118,680
,811,146
2,811,146

= N H
N

301 LEE A F 18,740,972 0 18,740,972
13,118,680
811,146
2,811,146

= N H
no

01 M2 H 203 18,740,972 0 18,740,972
OAl& O0I0IE OtsSSFXE 18,740,972

13,118,680
2,811,146
2,811,146

s

= MW

ESUAN ML X3 AS 91,040 0 91,040
27,300
63,740

= M

307 21201 & 91,040 0 91,040
27,300
Al 63,740

t

10 AlRISXI2X 91,040 0 91,040
OES WA HHLH X3 A 91,040

27,300
Al 63,740

H

R0t RIE 28 0101213 2EAE 27,240 0 27,240
8,170
Al 19,070

H

307 glztol & 27,240 0 27,240

8,170
19,070

= N

10 AFRISXIE X 27,240 0 27,240
OZR0F BE2E 8 0t012I8 A 27,240

8,170

n
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SM: HEIIED
M o4 OlE=X B
|

o9 28 X8 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | Al 19,070
SMFH XA 985,000 615,000 370,000
< 3,000
Al 982,000
STHOE Ol& =d0F AtH 2 =8l X 960,000 600,000 360,000
301 et d = 960,000 600,000 360,000
01 MI2EZE 46z 960,000 600,000 360,000
OMMOL Ol& =40t Xtd 2=H N2
100,000& 800 x12& 960,000
SAESHAE M 290 =24 15,000 5,000 10,000
307 gl2tol& 15,000 5,000 10,000
10 A2l S X2 X 15,000 5,000 10,000
OE4ESA AtGlE90 =4 5,000
OsdTAXE ALY 10,000
OOl E2HME 228 29 10,000 10,000 0
= 3,000
Al 7,000
307 21201 A 10,000 10,000 0
< 3,000
Al 7,000
10 AFRISXIE X 10,000 10,000 0
OO0t0IEDl E2AME 228 29 10,000
< 3,000
Al 7,000
CtE2 3t ALS X & 1,013,232 1,126,487 A 113,255
= 7,000
Jl 538,147
< 155,783
Al 312,302
Ct23tAtel X & 998,232 1,112,987 A 114,755
J| 538,147
< 155,783
Al 304,302
G2stEs MtelE 8 XN & 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
02 QIZtFAE XS 10,000 10,000 0
Ogiel2d ns & FHHOIIHO0I 10,000
CtE3tE XNJHH 28X 471,700 572,880 A 101,180
J| 330,190
= 47,170
Al 94,340
307 glz2tol & 471,700 542,880 AT1,180
J| 330,190
< 47,170
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fA: O

SItE1)
A

b
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 94,340
10 A3l S X2 = 471,700 542,880 271,180
otU=ZsltE XN3EH 2EX& 471,700
Jl 330,190
< 47,170
Al 94,340
Ct2s)ts MEd22% 23 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 QIZtFAE XS 5,000 5,000 0
OU=3IIE HEZILHN 2
2,500,000& #2070 AH & 5,000
=23 A¥s €0 G230 &M 8,000 8,000 0
201 Let2d] 5,000 5,000 0
03 &Ar2 Z I 5,000 5,000 0
O=sto ZHE2 €0 U250 N
2,500, 000& *2J0 At 5,000
301 et a3z 3,000 3,000 0
09 &AL HI B &S 3,000 3,000 0
O=sto 2 €0 G250 N
1,500,000 *2J0 AL & 3,000
ZAIH0IFHE BESAE 2 XA 133,714 133,202 512
J| 93,600
< 13,371
Al 26,743
307 glz2+ol & 133,714 133,202 512
J| 93,600
< 13,371
Al 26,743
10 A3l S X2 = 133,714 133,202 512
OZ4LoH0I=0E E3AE 2EXE 133,714
J| 93,600
= 13,371
Al 26,743
Ch28thts =20 WS 27,000 27,000 0
< 10,800
Al 16,200
307 2201 A 27,000 27,000 0
< 10,800
Al 16,200
10 A2l S X2 X 27,000 27,000 0
OUZsIt=E =20 nEX& 27,000
< 10,800
Al 16,200
Ct2stts 90 2 s 83,213 83,194 19
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SAD SIS
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 58,249
< 8,321
Al 16,643
307 21201 A 83,213 83,194 19
J| 58,249
< 8,321
Al 16,643
10 A3l S X2 = 83,213 83,194 19
ot=sits o & WEXE 83,213
J| 58,249
< 8,321
Al 16,643
Z2E0/8X S - HIAMH A 47,670 42,960 4,710
J| 33,369
< 4,767
Al 9,534
307 21201 A 47,670 42,960 4,710
J| 33,369
< 4,767
Al 9,534
10 A2l =S X2 X 47,670 42,960 4,710
OZS0l2UX & - HAMHIA 47,670
J| 33,369
< 4,767
Al 9,534
ChE3NEXNJHEH SAE XA 23,623 23,623 0
< 9,449
Al 14,174
307 glz2+0ol & 23,623 23,623 0
= 9,449
Al 14,174
10 A3l =X 2 = 23,623 23,623 0
OU=23IIEXNA LY SAE N& 23,623
< 9,449
Al 14,174
Ct23tEXE 0ISHAHAME 32,484 32,480 4
J| 22,739
< 3,248
Al 6,497
307 21201 A 32,484 32,480 4
J| 22,739
< 3,248
Al 6,497
10 A2l =S X2 X 32,484 32,480 4
OUZER3INEXE 0IZSHAHAY 32,484
J| 22,739
< 3,248
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CEBIE
Ct23tALSI K&
CtE23HALS X1 (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
| Al 6,497
ZE0IQA HE=HUFE 19,900 22,000 A 2,100
= 7,960
Al 11,940
307 glz2tol & 19,900 22,000 A2,100
< 7,960
Al 11,940
10 AtSI =X 2 X 19,900 22,000 A2,100
OZE0|2Xt MgEdl=E 19,900
< 7,960
Al 11,940
FINEXNALAEH U= 9,600 25,600 216,000
201 et 9,600 25,600 A 16,000
01 At 22l 9,600 25,600 216,000
OUZRIIIEXNALH dUHESZS
800,000& »12& 9,600
EIIE dH=2SHAAY 21,400 21,400 0
< 8,560
Al 12,840
307 glz2tol & 21,400 21,400 0
< 8,560
Al 12,840
10 A3l S X2 = 21,400 21,400 0
OUZsIE d=ScHAAY 21,400
< 8,560
Al 12,840
ANEdy Chzstoisstyd 29 42,188 42,168 20
< 16,875
Al 25,313
307 21201 A 42,188 42,168 20
< 16,875
Al 25,313
10 A2l =S X2 X 42,188 42,168 20
OXNZdH THE30tssYd 299 42,188
< 16,875
Al 25,313
ZS0/2X s SHIX A 10,000 10,000 0
= 5,000
Al 5,000
301 LEtE L= 10,000 0 10,000
< 5,000
Al 5,000
01 MEI2EZE+05l= 10,000 0 10,000
OZS0l2/A et SHHI X & 10,000
< 5,000
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2N

(Rl ==
A

b
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 5,000
ZE0I2X =sUHE sSEHSKA 44,400 45,200 A 800
< 17,760
Al 26,640
307 glz2tol & 44,400 45,200 A 800
< 17,760
Al 26,640
10 AtSI =X 2 X 44,400 45,200 A 800
OZE0I2UX SSUHE SHHASAE 44,400
= 17,760
Al 26,640
Ct2tNEXNJHEH SMAE EX+E 5,880 5,880 0
< 1,764
Al 4,116
307 21201 A 5,880 5,880 0
< 1,764
Al 4,116
10 AFRISXIEX 5,880 5,880 0
OUZRINEXNALEH SAXN EXN=E 5,880
< 1,764
Al 4,116
ZG0oH0IFHEESAIE SAL SX==Y 2,460 2,400 60
< 738
Al 1,722
307 gl2tol & 2,460 2,400 60
< 738
Al 1,722
10 AtEI =S X2 X 2,460 2,400 60
OZYIIH0IFTHEESAIE EML =X+E 2,460
< 738
Al 1,722
Sstolg2 ZEAXA 15,000 13,500 1,500
= 7,000
Al 8,000
S0 FAEE NE 8,000 8,000 0
301 et d = 8,000 8,000 0
01 MEIBZE+06l= 8,000 8,000 0
OSB0ILF0 YHSEX 8,000
SE0IEF2UNE XNYEs 29 7,000 5,500 1,500
= 7,000
201 et 3,500 3,000 500
= 3,500
03 & At2 Gl 3,500 3,000 500
O=Ssolg=2Xa 28 2278 24 3,500
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